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Note: Answer any five questions, Missing data if any may be assumed suitably:

i OBE
Q.No. Question Marks |CO |RBT

What is a Plant Layout? Briefly explain different types of plant layout with their
. . ‘ [10] |co1 | L1
relative merits and demerits?

1

Demand forecast for the product is given below along with the data on feasible
production alternatives. Develop an optimal aggregate plan and determine the
minimum cost.

. Ekpected Capacity Limits
Period
Demand .
Regular overtime subcontract
2 1 3000 2900 500 300 [10] [CO3 | L3

2 2000 3000 400 300

3 2500 2900 500 300
Initial Inventory= 100 Final Inventory =50 Regular Production cost= Rs 900
Overtime cost= Rs1000 subcontract cost = Rs1300 back order cost =
Rs100/unit/period Inventory carrying cost/unit/period =Rs10

What do you understand by aggregate planning? List and explain aggregate planning [10] |coz | L1
strategies and costs
HDFC bank is facing with a problem of location for their new central processing

facility, to process cheques from four existing branches of their main bank. Currently
the cheques are being processed at the main bank only. The following data is made

L]

available to you.

Location in co-ordinate
Branch . . Volume of cheque
distance from main bank 2 :
code X Y transactions in (Thousands)
A 50 100 60
4 B 150 150 50 [10] |CO3 | L3
C 100 50 10
D 200 0 100

Given that the cost of transportation is Rs.100/1000 transaction per unit distance

(1) Determine the location of central processing facility (CPF) using the simple median
model, if the main bank wants to move all the volumes to the new CPF.

(II) Graphically represent the location of the new CPF along with branch locations
with respect to main bank,
(111) Compute the annual Transportation cost.

What do you understand by capacity, capacity planning process? Explain different
5 types of capacity planning with examples.

[10] |co1 | L1

A manufacturer of tyres believes that their exists a linear relationship between
6 |automobiles sold in the year and the sales of the tyres two years later the data for the [10] |CO4 | L3




past 10 years are given below.

Establish a linear regression line; find what will be the sales of tyres given that the sale
of automobiles was 6.1 lakhs also determine the correlation co-efficient.

Sales of
automobiles | 4.0 | 45 | 42 | 55 | 58 | 55 | 62 | 72 | 6.7 | 7.9
in Jakhs
Sales of
tyres 2
years later
in lakhs

80 (79 |81 84 | 81 |86 |91 |89 | 91 | 96

Forecast for 9™ year using the following data by 3 yearly moving average and simple
exponential smoothing technique with initial forecast being 85 and choosing smoothing
constant as 0.5.Among the two which is the best method and why

(ii) Identify the type of layout due you prefer for manufacturing these products:
Mobile phone, Television, Fast food restaurant, Car, Turbine

7 Year | 2001 | 2002 | 2003 | 2004 | 2005 | 2006 | 2007 | 2008 | | [10) |CO% | L4
Demand
in lakhs 90 100 107 113 123 136 144 155
(Rs)
8a. |Differentiate between Delphi and nominal group qualitative forecasting techniques. [5] |CO2 | L2
(i) Identify common measure of capacity for the following systems:
3b, University, Restaurant, Steel mill, Airport, Bank 5] |cos | Li
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